



다음 두 분수의 차를 기약분수로 나타내세요.

$$\textcircled{1} \frac{6}{8} - \frac{1}{6} = \frac{7}{12}$$

$$\textcircled{9} \frac{6}{7} - \frac{3}{4} = \frac{3}{28}$$

$$\textcircled{2} \frac{5}{9} - \frac{1}{5} = \frac{16}{45}$$

$$\textcircled{10} \frac{6}{8} - \frac{1}{3} = \frac{5}{12}$$

$$\textcircled{3} \frac{6}{11} - \frac{1}{4} = \frac{13}{44}$$

$$\textcircled{11} \frac{7}{8} - \frac{1}{6} = \frac{17}{24}$$

$$\textcircled{4} \frac{10}{12} - \frac{1}{3} = \frac{1}{2}$$

$$\textcircled{12} \frac{6}{10} - \frac{2}{6} = \frac{4}{15}$$

$$\textcircled{5} \frac{7}{10} - \frac{1}{5} = \frac{1}{2}$$

$$\textcircled{13} \frac{8}{11} - \frac{2}{4} = \frac{5}{22}$$

$$\textcircled{6} \frac{7}{12} - \frac{2}{4} = \frac{1}{12}$$

$$\textcircled{14} \frac{6}{7} - \frac{2}{6} = \frac{11}{21}$$

$$\textcircled{7} \frac{7}{8} - \frac{4}{6} = \frac{5}{24}$$

$$\textcircled{15} \frac{7}{10} - \frac{2}{5} = \frac{3}{10}$$

$$\textcircled{8} \frac{9}{10} - \frac{4}{5} = \frac{1}{10}$$

$$\textcircled{16} \frac{4}{9} - \frac{1}{5} = \frac{11}{45}$$



다음 두 분수의 합을 기약분수로 나타내세요.

$$\textcircled{1} \frac{3}{10} + \frac{2}{3} = \frac{29}{30}$$

$$\textcircled{9} \frac{2}{4} + \frac{2}{5} = \frac{9}{10}$$

$$\textcircled{2} \frac{3}{10} + \frac{4}{6} = \frac{29}{30}$$

$$\textcircled{10} \frac{2}{4} + \frac{2}{9} = \frac{13}{18}$$

$$\textcircled{3} \frac{1}{4} + \frac{5}{9} = \frac{29}{36}$$

$$\textcircled{11} \frac{6}{11} + \frac{1}{3} = \frac{29}{33}$$

$$\textcircled{4} \frac{2}{6} + \frac{1}{3} = \frac{2}{3}$$

$$\textcircled{12} \frac{1}{8} + \frac{2}{3} = \frac{19}{24}$$

$$\textcircled{5} \frac{2}{5} + \frac{1}{4} = \frac{13}{20}$$

$$\textcircled{13} \frac{1}{4} + \frac{4}{11} = \frac{27}{44}$$

$$\textcircled{6} \frac{1}{7} + \frac{3}{6} = \frac{9}{14}$$

$$\textcircled{14} \frac{1}{5} + \frac{2}{7} = \frac{17}{35}$$

$$\textcircled{7} \frac{8}{12} + \frac{1}{4} = \frac{11}{12}$$

$$\textcircled{15} \frac{2}{6} + \frac{2}{10} = \frac{8}{15}$$

$$\textcircled{8} \frac{1}{8} + \frac{2}{4} = \frac{5}{8}$$

$$\textcircled{16} \frac{1}{3} + \frac{3}{12} = \frac{7}{12}$$